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AP Calculus – Across and Down  
 
Clue Set: #5 
 
Topic: Derivatives –Implicit Differentiation 
 
Only digits (0 – 9) and negative signs are allowed. If an answer is an integer, use 
leading zeros to make the answer fit. (Ex: If 4 digits are required and your answer is 
46,enter 0046.)  If an answer has decimal places, the decimal point is dropped and 
trailing zeros are used to make the answer fit to the required number of decimal places 
which is specified in the problem. (Ex: If 2 decimal places are required and your answer is 12.4682, round to 
12.47 and enter 1247.  If one decimal place is required and your answer is 15, write 15.0 and enter 150. If one 
decimal place is required and your answer is 0.5, wrote 05.) 
 
Across 
 
 

A20.  For y4 − 3y = x4

2
− 5002 , find the value of dy

dx
at −10,1( ) . 

 
 

A46.   For x2 − y2 = 80 , find d
2y
dx2

 at y = –1. 

 
 

A76.   If x2 + y2 = 34 , dy
dx

 at x = 3 can be expressed as a fraction a
b

 in lowest terms. Write a then b as a two- 

           digit number. 
 
 
Down 
 
None 


